[image: image1.jpg]aat





CBT Practice test model answers

Cash Management (CMGT)

Practice assessment 4
Section 1

Task 1.1
[image: image2.png](a) From the options below, select the one that correctly identifies the working capital cycle.

Inventories; Trade payables; Trade receivables; cash

Inventories; Trade receivables; Trade payables; cash.

Inventories; Trade payables; Cash; Trade recsivables

Inventories; Trade receivables; Cash; Trade payables





Task 1.1, continued
[image: image3.png](b) Complete the draft email below by selecting from the picklists.

Email

o [roagraerogoigs room: zowingemsen gl

‘Subject: Cash budgets, over-rading and over-capitalisation

Over-rading is when an organisation has expanded

Smptoms ofoverracing ncuce rapiy sales volume ang tevels

afimenton, Raso resuts n trage ecehabes collctionperiods and ade payables

payment periods.

Acash buggetsnaws e mevementotan organisatin's
fora e raang peros |3





Task 1.2

[image: image4.png](a) Complete the statements below using the picklists.

Prftiscalclted s th excess of oer Prftifers fom cash
A rovses [ronesn [
adustments sueh 25 [seprecaton crarge. g

‘The actual cash payments made during an accounting period can be calculated by [deducting Jg

repayments atine beoiing of  period [from [l e expenses in e income tatement

R prepayments at the end of the period.

On 1 January the balance of trade receivables for a business was £52,630 andthe balance at
31 March was £61,745. The total sales for this three-month period, shown in the income statement were
£386,820. Cash sales accounted for 5% of the sales in the income statement.

(b) Calculate the total cash received in respect of credit sales in the period 1 January to 31 March.

“The total cash received in respect of credit sales for the period 1 Januaryto 31 March was £ [339364





Task 1.2, continued

[image: image5.png]{c) Calculate the actual cash paid in respect of additions to property, plant and equipment for the period
1 January to 31 March.

‘The cash paid in respect of additions to property, plant and equipment for the period 1 January to 31 March

was £ [21730

(d) Which of the following describes exceptional payments?

Payments that are not expectedto occur requently.

Payments that are expected to occur frequently.

Payments that are expected to occur twice a year

Payments that are expected to occur once 3 month





Task 1.3
[image: image6.png](a) Complete the table below to calculate the monthly sales volume trend and identify any monthly
variations.

You must enter minus signs where appropriate and round to the nearest whole number.

volume
(units)

Jpugust 4822

[september 4720 4220 500

loctaber 3118 4418 1200

INovember 5415 4816 00

IDecember 5314

‘The monthly sales volume trend is [198 units.





[image: image7.png](b) Using the trend and the monthly variations identified in (a), complete the table below to forecast the sales
volume, sales value and purchase value for January of the next financial year.

banuary 5012 -1300 712 51968 12992





Task 1.3, continued
[image: image8.png](c) If the company uses the forecast wage rate index, what will the wage cost for February be, to the nearest £7.

210651

211877

211,687

29,308





Task 1.4

[image: image9.png]Complete the receipts schedule below to identify the total sales values for each month, the split between
cash and credit sales and the timing of cash flows from credit sales.

banuary 22500 3375| 19125 7650 [February 11475 [March

IFebruary 27500 4125 23375 9350 [arch 14025 [Aprt

lwarch 28500 4275| 24225 9690 [april 14535 [ay





Task 1.5

[image: image10.png](a) Complete the payments schedule below to identify the credit purchases for February and March and the
timing of cash flows for those credit purchases.

Month Month
credit credit
purchases. purchases.
paid paid

Credit
purchases.

B

IFebruary

[March 80960 28336 |April





[image: image11.png](b) Complete the payments schedule below to identify the wages and other expenses costs for
February and March and the timing of cash flows for those costs.

Mouh Lo wowm  omer Momh
cost WS ages  expenses
incurred - paid £ ELEEE
i

9629 [February

9015 |March






Task 1.6

[image: image12.png][cash sales 1,800) 1.500) 1.200)
[creditsales 50,000 57.000 63,000)
|Loan rom parners 30000 o o
[Total receipts 91800 58.500) 4,200
lpavmenTs

lPurchases 18,300 17,700 21,000
[wages 2,000 10500 10500
[oter expenses 7800 7800 2,100
[pdvertsing campaign o 12000 12000
[overaratinterest 20 o o
[VAT payment “s0ss. o o
[Total payments 41235 48000 51600
et cash iow 50565 10500 12600
[opening bank batance 2000 1565 52005
[ctosing bank balance 41565 52065 64665





Section 2
Task 2.1
[image: image13.png](a) Prepare a revised payments schedule to take account of the changes outlined above. Do not use.
‘minus figures.

[Payments
[Purchases 18525 17955 19,000)
[otner proguction expenses 10229 10017 10600
[Wages and salaries 5,250 5040 5408
[Rent 4500 4700 4700
[Total payments 38504 7712 39708

(b) Complete the sentence below to explain the effect of the additional information on the original cash budget.

‘The effect of the changes to payments is to

crease JJgl] the net cash flow by £ [558





Task 2.2

[image: image14.png]IRECEIPTS

|cash sales 16.700) 14240) 2480
[Creditsales 92,150 96,800 4850
[Total receipts 108,850| 111,040) 2190
[PAYMENTS.

|cash purchases 4,600 5120 520
|credit purchases 42252 46,630 4378
|Labour costs 7,300 7490 -1%0
|Capital expenditure 32450 30450 2000
|Administrative expenses 17,950) 16.775| 1175|
[Total payments 104552| 106,465| -1913]
[Netcash flow 4298 4575 217





Task 2.3

[image: image15.png](a) Complete the sentences below.

Bankloans are normaly eted a a Bl form offnance.inerestraes are sualy
tranforsank vercrats and ey repayatiean deman.
Bank loans ae sutabl for funcing [ e purchase of o urent ssseis

(b) Identify which of the following features apply to bank overdrafts.

Appl

lavailable on bank savings accounts.

Interestis only charged for the period the overdraftis used.

The bank sets a maximum fimitfor the overdrat.

SIS

IRepaid in regular monthly instalments.





Task 2.3, continued
[image: image16.png]{c) Which of the following best describes the main features of a bank facility letter?

‘Only applies to bank loans; protects the legalrights of the customer

‘Only applies to bank overdrafs; sets out the rights and duies of the bank and customer.

Applies to bankloans and overdrafts; protects the legal rights of the bank.

Applies to bank oans and overdrafts; protects the rights ofthe bank and customer.





Task 2.4

[image: image17.png](a) Complete the table below to calculate the cost to the partnership for the first year of financing under
‘each of the three options. You must enter zeros where appropriate to gain all the marks.

|option 1 5378 0 0 5378
|option 2 7008 1638 1600 10336
loption 3 0408 672 0 10080

{b) Which financing option should the partnership select, taking account of the provisions of the partnership
policy?

|option 1

|option 2

|option 3

[None ofthe options.





Task 2.5

[image: image18.png](a) Which of the following best describes the main functions of a treasury department?

To invest surplus funds.

To raise finance.

To invest surplus funds and raise finance.

To ensure an organisation pays as litfe tax as possibe.

(b) Complete the following sentences by selecting from the picklists.

Intimes offaon, st st il oty anaertors rgansatons

ehould seekto make investments whichhave a B e ormert.

Thereason ortisis o1y ang tne retumon th mesiment





Task 2.5, continued
[image: image19.png](c) For each type of investment, identify whether they can be traded on a market by selecting yes or no
and whether they are considered to be high risk or low risk investments.

Tradable on a
market

Yes

(Certficates of deposit

lLocal authority loans.

ISISPS|
ISISPS|

|Government securities






Task 2.6
[image: image20.png](a) Complete the table below to identify whether the company will require a higher return (interest rate) for
their investment or be prepared to accept a lower return if the following changes occur.

The amount available for a single investment
decreases to £40,000

The maximum fixed term for any investmentis to
be increasedto 60 months.

The investmentis transferred from the low risk.
pank depositto a high risk share portolio,





[image: image21.png](b) Complete the table below by typing either yes or no into each cell. Then complete the sentence to recommend
‘which of the options, f any, should be selected.

pic
1

ption

[Investment does not exceed £100,000 yes ves
Incluges shares yes no
|Achieves minimum interest rate no ves
|Converible to cash within 60 days no yes

The organisstion shouldseiect
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